Addition and Subtraction Unit 2

Problem solving and reasoning questions


Arrange the digits 4, 5 and 6 to create an addition of two 3-digit numbers which add to 1000. 
You may use each digit as often as you like.  



Explain why it would be sensible to choose different methods to solve (a) and (b) below.  
Then solve both.

(a)	67,493 + 21,561 
(b)	50,005 + 9,998 



Complete the addition by finding , ✜ and :
[image: ]



Use digits 2 to 8 once each to create two amounts of money in the form £. + £..  Add these. 
Now re-arrange the digits so as to give the largest total possible.  
Now re-arrange the digits so as to give the smallest total possible.   


Addition and Subtraction Unit 2

Problem solving and reasoning questions


Arrange the digits 4, 5 and 6 to create an addition of two 3-digit numbers which add to 1000. 
You may use each digit as often as you like.  
Possible answers:
444 + 556, 445 + 555, 446 + 554, 454 + 546, 455 + 545, 456 + 544. 



Explain why it would be sensible to choose different methods to solve (a) and (b) below.  
Then solve both.

(a)	67,493 + 21,561   89,054  best solved by column addition as there are lots of different digits in each number and several instances where ‘carrying’ will be needed.
(b)	50,005 + 9,998   60,003  can be solved mentally with supporting jottings, by adding 10,000 and then subtracting 2.

[image: ]
Complete the addition by finding , ✜ and :






Use digits 2 to 8 once each to create two amounts of money in the form £. + £..  Add these.   Various answers.
Now re-arrange the digits so as to give the largest total possible.  
Now re-arrange the digits so as to give the smallest total possible.   

[bookmark: _GoBack]Possible largest: £86.42 + £7.53 = £93.95 (digits for the £1s, 10ps or 1ps can be swapped over, e.g. £87.53 + £6.42).

Possible smallest: £24.68 + £3.57 = £28.25 (again, digits for the £1s, 10ps or 1ps can be swapped over).
These questions should be provided for children to do once the unit has been completed.  They assess the children’s mastery of the skills and concepts in this unit.  
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